
���������
	����
�������������������������
���� !��	"�#�%$&���

')(+*
,.-0/
1!2),436587�9):�;�2)<>=6?@,A'�/�B�58C4D�7�58CE2),4CGFH2�I+?8CG'�/KJL/
;�2NMPOL2�9RQJ02�I)7P,4C
?83S*.T�2)U
(4<62N=6(+<>9J02)VWU
<X?8C
Y)7):�J0Z\[^])_�-0/
`a,4?8=67�CbO�?@,4Y)C
(+VG/
c�dfeNg�h#c�i!g0jlkGmnm6o)p�qHr8s)m!t"u�m�v)w&xPy)z8m6q{x�|�}�m6~6xPsN��xPz8�Nr�s��0y)z8�)w"w&m6}Ht&m6oNtSj�gfu)r8�!r8��p0tXp��&�ar8sL�fu)r8~XuHt&u)m6w"mr8���&t"w&xPs)�Lv)w&r8xPw!��s�x��fz�m�})�PmL�"�������@��|�xPsNt!~�u4p�w�p�~6t"m�w"r8�"t&r�~����nt"u+p�t�r8�!u+p�w&}Wt"x�m6oNv)w"m6�&�\~6xPq�v)�)t�p�t"r8xPs4p�z8z8�Pj4gfu)m6�"mv)w&r�x�w"�ap�w"m�r�q�v)z8r8~6r8tS�4u)x��!m6�Pm6w���r8sGqHxN~X�^}+p�tXp�|�x�w��fu�r�~Xu.t"u)mLt&w"�)mWr8q�p��Pm0r8�0�Ns)x��fs�jWk�u)m6sGt"wXp�r8s)m6}Gx�s�"��~�uGq�xN~��W}+p�t�p���pLs)m��)w�p�z�s)m�t���x�w"�^r8�0p�y)z8m�t"xWz8mSp�w&s�p��&xPz8�)t"r8x�s^t"xWt"u�mLr�qWp���m�}�m6~6xPsN��xPz8�)t"r8x�s�v)w&xPy)z8m6q�fu)r8~XuWt�p���m6��p�}��Pp�sNt�p��Pmfx�|�t"u)r8�fr8qHv�z�r8~6r8t�v)w&r�x�wf�Ns)x��fz8m6})�Pm�j
��w&r8xPwf�Ns)x��fz8m6})��m�x�|�r8q�p��Pm!v+x��"r8t"r8�Nr8t��L~Sp�sWy4mu+p�w"}N�N�fr�w&m6}Wr8s�t&xLt"u)m�|��)s)~6t&r8xPs+p�z�p�w"~Xu)r8t&m6~6t"��w"m�x�|�t"u)m�s)m6t��!xPw"�
��y)�)t��!m\z8mSp��Pm\r8tft"x�t"u)m0s�m6t���x�w"��t"xLz8mSp�w&sqHx��"tnx�|�t&u)mLv+p�wXp�q�m6t"m6w&�\x�|�t&u)mLt�p��"�W|�w&xPq�t&u)mL}+p�tXp)j\kGm�})xWs)xPt\s)m�m6}Gt"x�t"m6z8z�t&u)mLs)m6t��!xPw&��p�y4xP�)t\t&u)mv4xPr8sNt��&v)w"mSp�}W|��)s�~6t"r8xPs��Nt"u)m0r8sNt"w&r8s)�"r8~�~�xPw"w&m6z@p�t&r�x�s�|��)s)~6t&r8xPs��Nx�wft"u)m0s�xPr8�"m\v)w&x�~�m6�"��j  m6�)wXp�z\s)m6t��!xPw&����u+p��Pm¡y+m6m�sE~6x�qHv+p�w"m6}��fr�t&ubt"u)mAxPv)t&r8q�p�z!z8r8s)mSp�w£¢+z8t"m6w���p�s�}��fr8t"u�t&u)m^dfp��Pm6�&r¤p�sp�z8��xPw"r8t&u)q�¥Wm6q�e%�����Px�s^p0�Pp�w"r8m6t��Lx�|�v)w"x�y)z8m6qH��j�gfu�m�s�m6t���x�w"�N�S��xPs)~�m�t&w�p�r�s�m6}��N�!m6w"m\|�p��"t&m6wfr8q�p��Pm!w"m6~6x�sN¦�"t&w"�)~�t"xPw&�\t"u+p�s§¥§m6q�eN�N����p�s)}Wu+p�}W�"r8q�r�z@p�w
v4m6w¨|�xPw&q�p�s�~6mPj
© ª\«�¬�­�®°¯P®°±�²�¬�³a®¨´µ¬
¶�·�«P·
¸N±¹²»º�¯P«)¼�¸N¯P®°±�²{´b·+¯N½�±�­�º

¾H¿4À�Á�Â�Ã�ÄGÄ)ÁÆÅ�Ç4Ã�ÈÊÉ4Á�Ä�À�Ç
È�Ë
Ì",GV¡2),)9¡?¤V¡2NY)?@,4Y^Í
<X(+U4587PVW3P:
=�*47LC�2N=S2HV§7P2N3SÎ
<X7PVW7P,�=63�Ï�Ð�ÑLÒH2)<X7�58?¤,47P2�<X589Ó<X7�5@2N=67�CA=6(W=S*47ÔÎ
,4C
7P<�Õ589+?@,4YA?@V^2NY)7�Ö+× Ð�ÑlØ�Ù�ÚÜÛ�Ñ ÚÞÝ�Ú#ßÊà ÑWá âXãPä
10*47�I)7�M�=6(+< à C
7P,4(�=67�3\=S*47a?@,47�I4?8=S2)U4587�,4()?8367�åa*4?8M�*AM�(+<6<6Î
Í4=63\<X7P2N5�C�2N=S2
/fÌ",¡=S*47�MP2N367�(Næ�2�MP2)VW7P<62åa*4?8M�*�Í
<>(+C�Î4M�7�3\2aU45@Î
<6<X7�C^Í4?8M�=SÎ
<X7):�=S*47\I)7�M�=6(+<¹Ö\C
7P,4()=67�3f=S*47n=S<6Î47n?¤V¡2NY)7): ­ C
7P,4(�=67�3f=S*47�U45@Î
<6<>7�C2),4C�,4()?8369ÓÍ4?8M�=SÎ
<X7):!2),4CÓ=�*47�58?@,47P2)<£(+Í
7P<62%=6(+<0çè?�3H2¡M�(+,�I)()5@Î4=6?8(+,.C
7�D
,47�C�U)9.=S*47�Íé()?@,)=L3�Í
<X7P2NCæ"Î
,4M�=6?8(+,b(Næ�=S*47WMP2)V§7P<62
/HÌ&,Ó=�*4?�3�3SÍ
7�M�?@2N5fMP2%367):�=S*47W=S<6Î47W?@V^2NY)7^2),4Cb=S*47WC�2N=�2^I)7�M�=�(+<L<X7�36?8C
7W?@,=S*47W3S2)V§7�3�Í
2NM�7)ê�U
Î4=L?8=H?83L?@V^Íé(+<X=S2),�=L=6(GV^2N?@,�=S2N?@,�2AC
?836=6?@,4M�=6?8(+,�U
7�=Xå\7�7P,.=S*47PVG/�ë�7Wå0?85�5\Î4367=S*47�3SÎ
U436MP<X?@Í4=HìíØîãnáPáPá&ïð=�(�<6Î
,G(NI)7P<�C�2N=S2¡VW7P2N3SÎ
<X7PV§7P,)=63�:�2),4CÓ=�*47H3SÎ
U436MP<>?¤Í4=�3Hñ6ò"óWØôã�áPá�á"õ=6(�<�Î
,A(�I�7P<�?@V^2%Y)7�Í4?8ö47�5�3�/BL,47�VW?8Y+*)=n3SÍ
7�MPÎ45@2N=�7a=S*
2%=f36?@,4M�7a=S*47�U45¤Î
<#å02N3fMP<X7P2N=67�CAU)9^2�58?@,47P2)<n(+Í
7P<62%=6?8(+,�:)=S*47P,AÍ
7P<�*
2)Í43?8=�VW?8Y+*�=^U
7^C
7PU45@Î
<6<>7�ClU)9�2),4()=�*47P<L58?@,47P2)<W(+Íé7P<62N=6?8(+,�/Aë�7^C
7P<>?�I�7�=S*47.÷�ø
ù�úÆû�ü�ý�ý8úÆþ�ÿ�ü�����ý8ù�ÿ���?@,=Xå\(�å02�943P/ � Ã���Ç
ËPÁ°Ã�Å	��Ç
È�Á�
4Ã
À�Á
�!Å
ë�7Ó2N3�3SÎ
VW7Ó=�*
2N=W=S*47Ó58?@,47P2)<¡(+Í
7P<62%=6(+<^ç ?83��4,4(Nåa,�:�2�,4CÊ=S*
2N=^=S*47Ó,4(�?�3�7 à ?83��H2)Î43�36?@2),Ê2),4C?@,4C
7PÍ
7P,4C
7P,�=P:�å0?8=S*.2��+,4(Nåa,A3�=S2),4C�2)<XCAC
7�I4?¤2%=6?8(+,����)/

�^â ­�� Ö+ò�� � ò���äfØ ã
â���� � !� ä#"%$�! 7�ö
Í'&)( Ù Ñ * Ð Ñ (	+ Ú Û Ñ Ú Ý Ú-, !/. â��0� !� ä21 â��)ä

3#4)5�6�687#9;:�5=<?>A@B<DCFE�GDH;I?5=6�J�K�LME=@BN�O)P?QAR=S?Q/T�U=P�V-QAWYX�RAQ2PZX�Q�R�X\[AS�J



9): 9
ë�7W2N363SÎ
VW7L=�*
2N=0=S*47HÍ
<X?8(+<�Í
<X(+U
2�U4?�58?8=X9Ó(Næf=S*47�?¤V¡2NY)7L?83Ô2%5�3�(���2)Î43636?@2),�:
å�?�=�*Ó2W36=�2),4C�2)<XCGC
7�I4?KÕ2N=6?8(+,����
/

�^âÆÖ � ���
ò=��äfØ C
7�=�����	�â���� � !� ä�
 $�! 7�öRÍ �
 ( Ù���� Ú Ý ����� Ú�Ý�Ú�� â���� !� ä��� â�[)ä
ÌÆæ0å\7^2N363SÎ
V§7§,4(GM�(4<6<X7�5@2N=6?8(+,43W2)VW(+,4YG=S*47^Í4?8ö47�5�3W=S*47P, =S*47W369RV¡VW7�=S<X?8M):�æ"Î4585�<62�,��ÓV^2N=�<X?8ö � ?837��
Î
2N5
=6(L=S*47\?8C
7P,)=�?�=X9^V^2N=�<X?8ö��N/�1�*47aVW(+<X7n36(+Í
*4?836=6?8MP2N=�7�C���?@,�=S<X?@,436?8M0M�(+<�<X7�5@2N=6?8(+,�æ"Î
,4M�=6?8(+, �)VW(4C
7�5Î4367�3 � Ø"!$#�#&%(' � ) :!åa*47P<X7*# ?83�2.M�(+,)I�()5@Î4=6?8(+,�=�*
2N=H=S20�N7�3^Î43Hæ"<X(+V 2),�?¤V¡2NY)?@,
2)<X9+�8*4?�C
C
7P, �?@V^2NY)7):Nå�*4?�M�*�?83�Î
,4M�(+<6<X7�5@2N=67�C�:N=�(a=S*47\<X7P2N5)M�(4<6<X7�5@2N=67�CW?@V^2NY)7)/!10*47\?@,)=S<>?¤,43�?�M�M�(+<6<X7�5@2N=6?8(+,Ôæ¨Î
,4M�=�?�(4,3S*4(+Î458C�,4()=LU
7�M�(+,�æ¨Î43�7�Cµå�?�=�*G=S*47^Í
(�?¤,�=�3SÍ
<X7P2NC æ¨Î
,4M�=6?8(+,bçíåa*4?8M�*.C
7�D
,47�3L=S*47H?@V^2NY�7�=�(^C�2N=S2V^2)Í
Í4?@,4Y�/-,/.�7P<X(NÕ�VW7P2), �H2)Î43�36?@2),ÊÍ
<X?8(+<¡?�3¡M�5�7P2�<X589 2�Íé(+(+<¡2N363SÎ
V^Í4=�?�(4,Ê?KæÔ?8=A?83��4,4(Nåa,�=S*
2N=2N585f7�587PVW7P,�=63H(Næ\=S*47^?@V^2NY�7�ÖA2)<X7^Í
()3�?�=�?�I�7�U
Î4=L587�=�Î43WÍ
<X(4M�7�7�C�/Wë�7^2)<X7^,4(Nåî2)U4587^=6(G?@,�æ 7P<£=S*47Í
(�36=67P<X?8(+<0Í
<>(+U
2)U4?858?�=X9.(Næ 2), ?¤V¡2NY)7LÖHY�?�I�7P,G=S*47LC�2N=�2 ­ /

�^âÆÖ � ­ ò����Nò/���4ò��Aä�Ø �^â ­M� Ö+ò/� � ò=��ä��^âÆÖ � � � ò=��ä6ä�^â ­�� ���)ò/���4ò��Aä â�0+ä
Ì", å\(+<XC
3P: 1

(�36=67P<X?8(+<fØ T»?\�%7�5�?@*4(4(+C32 1
<X?8(+<-fI4?8C
7P,4M�7 á â�4)ä

10*475��7�I4?8C
7P,4M�76� �^â ­M� ����ò����+ò=��ä�?83^=S*47G,4(+<6V^2N58?7.�?@,4YEM�(4,436=S2),�=Læ�(+<�=S*4?83�Í
(�36=67P<X?8(+<�C
?836=S<X?@U
Î4=6?8(+,�/_�7P<X7Ó?8=A?�3GÎ
,4?@V^Í
(4<X=S2),�=P:0U
Î4=A?�=A?83ÓÎ4367�Cl?@,{2�VW(4<X7Ó36(4Í
*4?�3�=6?8MP2N=67�C�2),
2N589436?83�=6(�M�(+V^Í
2)<X7):næ�(+<7�ö
2)V^Í4587):�C
?98�7P<X7P,�=0I�2%5¤Î47�3�(Næ ���W2),4C'���
:
(+<nC
?98�7P<X7P,)=LÍ
(�?¤,�=�3SÍ
<X7P2NCAæ"Î
,4M�=6?8(+,43LçÓ/: ?@,4M�7�=S*47HÍ
()3�=67P<X?8(+<\C
?836=S<>?¤U
Î4=�?�(4,Ó?830=�*47�Í
<X(4C�Î4M�=0(Næf=Xå�( �H2)Î43�36?@2),¡æ¨Î
,4M�=�?�(4,43a(NæfÖ+:4?8=�?�3�2N5836(2���2)Î43636?@2),�:
2),4C.MP2),A=S*47P<X7�æ�(+<X7HUé7L3SÎ
V^V^2)<>?;.�7�CbU)9A?8=63aVW7P2�,�:
åa*4?8MÞ* ?83a2N5836(^=S*47AûW÷=<Þù»øZ�X÷?>�ü?>�ý8ÿúÆû�üA@+ÿP:éÖCBED
:
2),4CÓ?8=63�M�(�IN2)<X?@2),4M�7WV^2N=S<X?8ö�×F	GIH JLK3!�(�MNMÊ58()Y��^â Ö � ­ ò�� �Nò����4ò=��äO' � ) ò â�P)ä
åa*4?8M�*LC
7�D
,47�3f=S*47 QX()?@,)=¹7P<6<X(+<�U
2�<X3�(+,�Ö4/�Ì",£=S*4?83�7��
Î
2N=6?8(+,�:�=S*47n369RVWUé()5?M{C
7P,4()=�7�3�C
?98»7P<>7P,)=6?@2N=�?�(4,å0?8=S*W<X7�3SÍé7�M�=�=6(L=�*47�Í
2�<62)VW7�=67P<>3�Ö4/�ë�7�MP2�,�D
,4CWÖCBEDLU)9�C
?98»7P<>7P,)=6?@2N=�?¤,4Y�=S*47\58()YH(Næ�=�*47aÍ
()3�=67P<X?8(+<�:2),4CG36(�5�I4?@,4Y^æ�(+<\=�*47LC
7P<X?8I�2N=6?8I)7^Ué7�?¤,4YR.�7P<X(�/#ë�7L(+U4=S2N?@,�×

Ö BED ØTS�ç % ç ß � !�� !� �VU � ) ç % ­ á â�W)ä
10*47W(+Íé7P<62N=6(+<*X�ç % ç ßZY �[Y � \ �V] � ) ç % ?83�MP2N585�7�C�=S*47W(+Í4=6?@V^2N5!58?¤,47P2�<�D�5�=�7P<�/�ëÜ*47P,.=S*47W=67P<�V Y �[Y � \ �
MP2),GUé7�,47�Y)587�M�=67�C�:�=S*47L(+Í4=6?@V^2%5
58?@,47P2)<�D�58=67P<\?83�=S*47HÍ4367PÎ4C
()?@,�I)7P<X367*^Sç �_)�` ØZ!�ç % ça' � ) ç % /�10*47
=67P<6V Y �[Y � \ � ��<X7�Y+Î45@2)<>?;.�7�3b�
=S*4?83a?8585KÕ"M�(+,4C
?8=6?8(+,47�C�?¤,�I)7P<X3�7)/

1�*47L(+Í4=6?@V^2N5�58?@,47P2)<�D�58=67P<0MP2�,G2N5836(�U
7WV^2),4?@Í
Î45@2N=67�Cb?@,)=�(^=S*47�æ�(+<6VG×
BLÍ4=6?@V^2N5!58?¤,47P2�<\D�58=67P<nØ � � ) ç % S�ç � � ) ç % ß � !�� !� � U � ) á â�c)ä



Y �
Á�Å¹Á�Â���Â�Ë�����Ã�È�ÇbÇ
È�È��!È ��Ç
È�Á 
+Ã
À�Á;��Å

10*47n(+<X=S*4(4C
(Nö0C
7P<X?8I�2N=�?�(4,H(%æR=S*47f(4Í4=6?@V^2N5)58?@,47P2)<»D�5�=�7P<�36=�2)<X=63�U�9H2N363SÎ
VW?@,4Y0=�*
2N=�å\7få0?8585���7�3�=6?@V^2N=676�=S*47L=S<�Î47L?¤V¡2NY)7HÖWU)9G2W58?@,47P2)<�æ¨Î
,4M�=6?8(+, (Næf=S*47LC�2N=S2
×�ÖÔØ�� ­ á â
	)ä
10*47�5�?@,47P2)<£(+Í
7P<�2N=6(+<�� ?83L=S*47P,5��(4Í4=6?@VW?7.�7�CE��U)9ÓVW?@,4?@VW?7.�?@,4Yb=S*47H7�ö
Í
7�M�=67�Cb3SÎ
V�Õ"3��RÎ
2�<X7�Cb7P<6<X(+<U
7�=Xå\7�7P, �ÖE2),4C =S*47�Î
,��+,4(Nåa, =S<6Î47b?@V^2NY�7 / â�Ì&,)=�7P<X7�36=6?@,4Y)589):L2),�9+�RÎ
2NC�<�2N=6?8M�VW7�=S<X?8M�Î436?@,4Y 2369
V^VW7�=S<>?�MAÍ
()36?8=6?8I)7GC
7�D
,4?8=67ÓV¡2N=S<X?8öÓY�?�I�7�3�=�*47^3S2)VW7¡(+Í4=6?@V^2N5n5�?@,47P2)<�D�5�=�7P<�/�ä{Ì",�=S*47¡æ ()5858(Nå0?@,4Y7��
Î
2N=6?8(+,43P:!3SÎ
V^V¡2N=6?8(+,43W(NI)7P<H<X7PÍé7P2N=67�C�?@,4C
?�M�7�3Añ6:�ó�: ì 2)<X7^?@V^Í458?8M�?8=P/E10*47A7�ö
Í
7�M�=S2N=�?�(4,
�����L?83(NI)7P<\U
()=�*A=S*47L36=S2N=�?�3�=6?8M�30(Næ�=S*47H<�2),4C
(+V IN2)<X?@2)U4587�3HÏ à Ñ�Ò+:
2),4CG=S*47L7P,43�7PV�U4587�(Næ ?@V^2%Y)7�30ÖLåa*4?8M�*å\7\7�öRÍé7�M�=�=�(HU
Î
V^Í^?@,�=6(�/!ë�702N363�Î
VW70=S*
2N=f=�*47a,4()?83670?83�.�7P<X(HVW7P2),¡2),4C�Î
,4M�(+<6<>7�5¤2%=67�C�=�(L367�M�(+,4C(+<XC
7P<�å0?8=S*A?8=6367�5Kæ�2),4CG7�I�7P<X9+=�*4?¤,4YA7�58367):
å0?8=S*�� à Ñ à Ñ�� �fØ � !��� ÑnÑ�� /����� Ø ã��� â
� � ÑaÐ�Ñ ( Ý � ä !�� âXãP])ä

Ø ã� � â
� � Ñ Û Ñ Ú Ý Ú ( Ý � ä !�� ß ã� � � Ñ � � Ñ � !� á âXã)ãPä
FL?98�7P<X7P,)=�?¤2%=6?@,4Y�:
2�,4Cµ?@,�=S<X(4C�Î4M�?@,4Y�� K! Ý Ú � Ý Ú�" âÆM�æ�� !� � �_) ?@,Ó=�*47�Z\2�9)7�36?@2),.C
7P<X?8I�2N=�?�(4,µ2�U
(NI)7Pä�:å\7�D
,4CÓ=S*
2%=�=�*47H(+Í4=6?@V^2%5
58?@,47P2)<�D�58=67P<\?83P×�$#�%'&�Ø��0ç %)( ç*�0ç % ß � !� �,+ � ) á âXã��)ä
ÌÆæ0å\7^?8C
7P,�=6?Kæ 9-� Ø � !� � �_) :¹å\7^(+U4=S2N?@,b=�*47^(+Í4=6?@V^2N5f58?@,47P2)<£D�58=67P<�â c)ä�(Næ�=�*47�Z\2P9�7�36?@2),bC
7P<X?8I�2�Õ=6?8(+,�/�1�*47�2NCÓ*4(4MH2N363SÎ
V¡Í4=6?8(+,43ÔV¡2NC
7L?@,G=S*4?83�C
7P<X?8I�2N=6?8(+, å\7P<X7L=S*47HM�*4()?8M�7H(%æ#2 �
Î
2NC�<62N=6?8M�7P<6<X(+<VW7P2N3�Î
<X7):
2�,4CÓ=S*47WC
7�M�?836?8(+,b=6(AÎ4367^2^58?@,47P2)<�7�36=6?@V^2%=6(+<�/0Ì¨=L?�3�?@,)=�7P<X7�36=6?@,4YG=S*
2N=�å0?8=S*4(+Î4=�7�ö
Í45�?8M�?8=2N363�Î
V^Í4=6?8(+,43L(Næ���2)Î43636?@2), C
?�3�=S<X?@U
Î4=6?8(+,43P:¹=S*4?83LC
7P<X?8I�2N=6?8(+,�*
2N3Ô<>7PÍ
<X(+C�Î4M�7�Cb=S*47W3S2�VW7H7�36=�?¤V¡2N=6(+<2N30=�*47HZ�2�9)7�3�?¤2�,GÍ
()36=�7P<X?8(+<aV§(+C
7):
ÖOBED+/

¾LÀ/.�Ç
ÈÊÁÆÂ�Ã10!ÇbÂ � ��Ç
Ä)Ë
10*47HUé7�=6=67P<0V^2%=6MÞ*47�CA(+Î
<0V§(+C
7�5�(Næ�?@V^2%Y)7�3 �^âÆÖ � ��ä\?830=6(W=S*47H<>7P2N5�å�(4<X58C�:+=�*47HU
7�=6=67P<�(+Î
<n?¤V¡2NY)7<X7�M�(+,43�=S<6Î4M�=6?8(+,43�å0?8585�U
7):�2),4Cb=S*47�5�7�3�3LC�2N=S2Wå\7Hå�?�585�,47�7�Cb=6(G2),436å\7P<�2),)9GY�?�I�7P,L�
Î47�36=6?8(+,�/L10*47�H2�Î43636?@2),bVW(4C
7�5�3�åa*4?8MÞ* 5�7P2%C�=6(G=S*47W(+Í4=6?@V^2%5f5�?@,47P2)<£D�58=67P<�æ"2N?85f=6(G3SÍé7�M�?�æ�9�=S*
2%=Ô2N585f?@V^2NY�7�3�2)<X7Í
(�36?8=6?8I)7)/a10*4?83L587P2NC
3�=6(A=S*47�VW(�36=aÍ
<X(+,4(4Î
,4M�7�CµÍ
<X(+U4587PVW3Lå�*47P<X7H=S*47�?@V^2NY)7WÎ
,4C
7P<�(+U4367P<XIN2N=6?8(+,*
2N3\*4?�Y4*WM�(+,�=S<62N36=�/�BLÍ4=6?@V^2N5
58?@,47P2)<#D�58=67P<X3\2)Í
Í458?�7�CG=�(H<62NC
?8(�2N3�=S<X(+,4(+V§?�MP2%5+C�2N=�2�Y)?8I)7a<X7�M�(+,43�=S<6Î4M�Õ=6?8(+,430å�?�=�*G,47�Y+2N=6?8I)7H2)<>7P2N30?@,G=S*47PV :+M�(4<6<X7�3SÍé(+,4C
?@,4Y�=6(^Í
2N=�MÞ*47�30(%æ 3���9A=S*
2N=\3SÎ4MA�^7P,47P<XY�9�(+Î4=�(Næ<62NC
?8(G=67�587�36M�(4Í
7�3P/W10*47R��;�2Nö4?¤VWÎ
V -n,)=S<>(+Í)9 ��VW(4C
7�5!æ�(+<�?@V^2NY)7WC
7�M�(+,�I)()5@Î4=6?8(+,+! ��'få02N3H2¡Y+<X7P2N=3SÎ4M�M�7�363HÍ
<>?¤,4M�?@Í
2N58589EUé7�MP2)Î4367W=S*4?83ÔV§(+C
7�5¹æ (4<XM�7�Cb=S*47�<X7�M�(4,436=S<6Î4M�=67�C.?@V^2NY)7�=6(�Ué7�Íé()36?8=6?8I)7)/L10*473SÍ
Î
<X?8(+Î43�,47�Y+2N=6?8I)7L2)<X7P2N3\2),4CAM�(+V^Í4587PVW7P,�=S2)<X9^3�Í
Î
<X?8(+Î43aÍ
(�36?8=6?8I)7Ô2�<X7P2N302)<X707�58?@VW?@,
2N=67�C�:�2),4CA=S*47C
9
,
2)VW?8M�<62�,4Y)7L(Næf=S*47H<X7�M�(+,436=�<6Î4M�=6?8(+,A?83aY4<X7P2N=6589A7P,
*
2),4M�7�C�/1�*47&�8J\5@2N3636?8MGV^2Nö4?¤VWÎ
Ví7P,�=S<X(+Í�9 ��VW(+C
7�5�2%3636?8Y+,43�2�,b7P,)=�<X(+Í4?8M�Í
<X?8(+< �^âÆÖ �32 ò ´ ò��*46537�898;:3<"äLØ7�ö
Í�â 2>= âÆÖ+ò ´ ä�ä�?'@H:�å�*47P<X7 = âÆÖ+ò ´ ä�Ø + � â Ý � 58()Y»â¨ì � ? Ý � ä ß{Ý � (lì � ä !9P�'X/Ó10*4?83^VW(+C
7�5n7P,�æ (4<XM�7�3Í
(�36?8=6?8I+?8=X9
ê4=S*47�Í
2)<62)VW7�=�7P< 2 C
7�D
,47�3�2£MÞ*
2�<62NM�=67P<X?836=�?�M\C
9
,
2)VW?8ML<62),4Y)70U�9Håa*4?8M�*W=S*47aÍ4?8ö47�5�I�2%5¤Î47�32)<X7L7�ö
Í
7�M�=�7�CÓ=6(^C
?98�7P<næ"<X(+V =�*47LC
7�æ¨2)Î458=�?@V^2NY)7 ´ /1�*47V��Ì"JBAEV^2Nö4?@V�Î
V 7P,)=�<X(+Í�9_�)VW(4C
7�5 !@ã '
?@,�=S<X(4C�Î4M�7�3�2�,W7�öRÍé7�M�=S2N=6?8(+,¡(Næ�3SÍ
2N=�?¤2%5�M�(+<6<>7�5¤2%=6?8(+,43?@,)=�(L=S*470Í
<X?8(+<�(4,HÖ�U)9Låa<>?�=�?¤,4Y�ÖaØ # ½ :Nåa*47P<>7 #ô?�3�2�M�(4,)I)(�5¤Î4=�?�(4,Hå�?�=�*�2�,L?@,)=�<X?@,436?8MaM�(+<�<X7�5@2N=6?8(+,æ"Î
,4M�=6?8(+,�:
2�,4CÓÍ
Î4=6=6?@,4Y�2§M�5¤2%3636?8M�V^2%ö+7P,�=aÍ
<X?8(+<\(4, ½ /



9): 9
1�*47 � A�7P<6VW?KÕ"FL?@<62NM6��VW(4C
7�5�Y)7P,47P<62N58?7.�7�3G=S*47Ó7P,�=S<X(4Í)9�æ"Î
,4M�=6?8(+,Ê3�( 2N3¡=6(�7P,�æ�(+<XM�7µ2�,lÎ
Í
Í
7P<U
(4Î
,4Cl(+, ?¤,�=67P,436?8=X9l2N3^å\7�585a2N3¡=S*47G58(�å\7P<^Ué(+Î
,4C{(NæHÍ
()36?8=6?8I4?8=�9)/{10*4?83GVW(+C
7�5�?�3G2)Í
Í
<X(4Í
<X?@2N=67åa*47P<X7W=S*47^Î
,4C
7P<X5894?@,4YÓ?@V^2NY)7W?83�Ué(+Î
,4C
7�CEUé7�=�å\7�7P,.=Xå\(^Y+<X7�9.5�7�I�7�5�3�:�2N3�?@,b=S*47HMP2%367W(Næ�Í
<X?@,)=�7�C=67�ö4=P/,�585�=S*47�367HV§(+C
7�583H2)<X7�?@V^Í4587PVW7P,�=67�Cb?¤, =S*47H;b7PV : 943aÍ
2NMA�P2%Y)7)/

� �!¼��!·
«���®Æº�·
­�²�·�¼»«�¬�³�²
·4¯���±�«
	�º Ö ±
«A®�´b¬
¶�·�­¹·R¸N±¹²���±
³¨¼
¯P®°±�²�
��7PÎ
<62N5
,47�=Xå�(4<����N<X7�367P2�<XMÞ*47P<>3�(Næ�=67P,�7�ö
Í45�(�?�=n=S*47næ (�5�58(Nå0?@,4YH3�=S<62N=67�Y�9)/ �L?8I)7P,^2�Í
<X(+U4587PV�MPÎ
<�<X7P,)=�5�936()58I)7�C�å0?8=S*�2.36=S2),4C�2)<>C�C�2N=S2.VW(+C
7�5858?@,4Y 2%5�Y�(+<X?8=S*
VG×W?@,�=67P<6Í
<X7�=W=S*47^M�(4V^Í
Î4=S2N=6?8(+,43^Íé7P<&æ (4<6VW7�CU�9�=S*47�2N58Y)(4<X?8=S*
V 2N3�2bÍ
2)<62�VW7�=67P<X?7.�7�CÊV^2)Í
Í4?@,4Y.æ¨<X(4Vð2),�?@,
Í
Î4=�=�( 2�,b(+Î4=SÍ
Î4=P:f2),4C�MP2N585\=S*4?83V^2)Í
Í4?@,4Y�2¡,47PÎ
<62N5�,47�=Xå�(4<���ê�=S*47P,G2NC�2)Í4=\=S*47HÍ
2�<62)VW7�=67P<>3�=�(�7�ö
2)V^Í4587�30(%æ�=S*47LC
7�36?@<X7�CbV^2)Í
Í4?@,4Y36(�2%3�=�(�Í
<X(4C�Î4M�7�2),4()=�*47P<�V¡2)Í
Í4?@,4Y�=S*
2%=036()58I)7�30=�*47L=S2N3��^Ué7�=6=67P<�/nZ�9AM�(+,436=�<6Î4M�=6?8(+,�:
=S*47H,47PÎ
<�2N5,47�=Xå\(+<��bMP2),Ê<>7PÍ
<X(+C�Î4M�7.=S*47G36=S2�,4C�2)<XCl2N58Y)(+<>?�=�*
VG:f36(�=�*4?�3¡C�2N=S2�Õ"C�<X?8I)7P, 2NC�2)Í4=S2%=6?8(+,�MP2�,�âÆ(+,477�ö
Í
7�M�=63Sä�(+,4589GV^2��N7L=S*47HÍé7P<&æ�(+<6V^2),4M�7WU
7�=6=�7P<�/1�*47P<X7�2�<X7G367�I)7P<62%5�<X7P2N3�(+,43^åa*�9�36=S2�,4C�2)<XCÊ2N58Y)(+<X?8=S*
VW3¡MP2),EUé7ÓU
7�=6=�7P<X7�Cl?@,�=S*4?83^å02�9)/lâXãPä,�5�Y�(+<X?8=S*
VW302)<X7�(Næ�=67P,A,4()=\C
7�36?8Y+,47�CG=6(^VW?@,4?@VW?7.�7H=S*47L<X7P2N5�(+U QX7�M�=6?8I)7�æ¨Î
,4M�=�?�(4,�/ A�(+<n7�ö
2)V^Í4587):4?@,3SÍé7�7�MÞ*A<X7�M�()Y+,4?8=6?8(+,�:
2�*4?�C
C
7P,A;�2)<=�N(NIHVW(+C
7�5�?83�C
7�3�?�Y4,47�C�=6(WVW(4C
7�5�=S*4703�Í
7�7�M�*^36?8Y+,
2%5 :4åa*47P<>7P2N3=S*47\<X7P2N54(+U QX7�M�=6?8I)7�?83!=6(aC
?836MP<>?¤V§?¤,
2%=67aU
7�=Xå\7�7P,LC
?98�7P<X7P,�=�å\(+<>C
3P/�Ì æ
2),L?@,
2NC
7��
Î
2N=670VW(4C
7�5+?83�Ué7�?¤,4YÎ4367�C�:f=�*47�,47PÎ
<62%5�Õ�,47�=>Õ"36=X9+587G=S<62%?¤,4?@,4Yb(Næa=�*47�VW(4C
7�5�å�?�585\æ�(4MPÎ43�=�*47�<X7�3�(+Î
<XM�7�3H(%æa=S*47GVW(+C
7�5n(+,=S*47W2N3SÍ
7�M�=�3H<X7�587�I�2),�=L=6(^=S*47WC
?836MP<X?@VW?@,
2N=�?�(4,b=S2N3���/\FL?836MP<X?@VW?@,
2N=6?8I)7¡=S<62N?@,4?@,4YG(Næ�*4?8C
C
7P,b;�2)<��N(NIVW(4C
7�583\æ (4<f3SÍé7�7�MÞ*G<X7�M�(�Y+,4?8=6?8(+,^C
(47�3\?@V^Í
<X(NI)7�=S*47�?@<�Íé7P<&æ�(+<6V^2),4M�7)/�â��)ä�1�*47Ô,47PÎ
<62%5
,47�=Xå\(+<���MP2),U
7ÓV§(+<X7���7�ö+?@U4587b=S*
2),�=S*47A36=S2),4C�2�<XC V§(+C
7�5�ê03�(+VW7A(Næa=S*47Ó2NC�2�Í4=6?8I)7�Í
2�<62)VW7�=67P<>3§V§?�Y4*)=�*
2�I)7U
7�7P,.I4?87�å�7�C�2N3�D�ö+7�C.æ�7P2N=SÎ
<X7�3LU)9G=�*47H(+<X?8Y)?@,
2N5!C
7�36?8Y+,47P<X3�/�â�[)ä�10*47�,47�=�MP2),AD
,4C�Í
<X(4Í
7P<X=6?87�3�?@,=S*47LC�2N=�2W=S*
2N=\å\7P<X7H,4()=0?@,4M�5@Î4C
7�C�?@,G=�*47L(+<X?8Y)?@,
2N5�VW(4C
7�5�/Ì&,{=S*4?83µÍ
2�Í
7P<Gå\7E2�Í
Í45�9{=S*4?83�,47PÎ
<62N5H,47�=Xå\(+<�� 2N=6=6?8=SÎ4C
7�=6(l2�=6(N9l?@V^2NY�7E<X7�M�(+,436=�<6Î4M�=6?8(+,Í
<X(+U4587PVG/A10*47^=S2%3��G?83H=�(Ó<X7�M�(+,436=S<�Î4M�=�2),.?@V^2NY)7¡(Næ�2.Í4?�7�M�7A(Næ\=67�ö+=�æ"<X(+V U45@Î
<6<>7�CEC�2N=�2
/^10*4?83?83Ô,4(�=0I+?87�å\7�Cµ2%3a2WM�*
2)<62NM�=67P<�<X7�M�()Y+,4?8=6?8(+, =S2N3���×!å�7WÍ
7P<&æ�(+<6V =S*47H<X7�M�(+,436=�<6Î4M�=6?8(+,G(4,G2^Í4?8ö+7�5fU)9Í4?8ö+7�5fU
2N36?83Pê�=S*47W,47PÎ
<62N5f,47�=�å\(+<=�W?83L7�öRÍé7�M�=67�Cb=6(^587P2)<6, Y)7P,47P<62N5�M�*
2)<62%M�=67P<X?836=6?8M�3�(Næ�=S*47�æ�(+,)=�:�U
Î4=,4()=0=�(�VW7PVW(+<>?;.�7�=S*47�2%5¤Í
*
2�U
7�=P/në�7H3�=S2)<X=næ"<X(+V =S*47�(+Í4=6?@V^2N5¹5�?@,47P2)<�D�58=67P<�/0Ì æ =S*47WÍ
()?@,�=a3�Í
<X7P2NCæ"Î
,4M�=6?8(+,A?83a2LM�(+,�I)()5@Î4=6?8(+,�:é=S*47P,^=�*47�D�5�=�7P<�(%æ�7��RÎ
2%=6?8(+,�â
	)ä#3S*4(+Î458CÓ2N5836(^U
7H2�M�(+,�I)()5@Î4=6?8(+,�/ : Î4M�*2AD�58=67P<£MP2),�Ué7�I4?87�å�7�CÊ2N3L=S*47¡I)7P<X9b36?@V^Í4587�36=^,47PÎ
<62N5\,47�=�å\(+<=��� 2 36?@,4Y)587�58?@,47P2)<^,47PÎ
<X(4,b=S*
2N=M�(+V^Í
Î4=�7�3P× �Ý ��� � ��� Ø Ù
�
�
�
���
� �
�

�
��� Ð �������

�
� � ��� á âXãP[)ä

åa*47P<X7Hâ��¹ò��4ä�5@2)Ué7�5�=S*47\M�(4(+<XC
?@,
2N=67�3n(Næ
Í
(�?¤,�=63n?¤,§=S*47\?¤V¡2NY)7)/f10*47a,47PÎ
<X(4,�*
2%3�2�=�å\(NÕ"C
?@VW7P,43�?�(4,
2N5?@,
Í
Î4=\åa*4?8MÞ*AVW?8Y+*�=�Ué7Ô2�U
(+Î4=n=�å�?�M�7�=S*47a3�?;.�7�(Næ�=S*47aÍé()?@,)=\3SÍ
<>7P2NCWæ"Î
,4M�=6?8(+,�:
2),4C�2£36?@,4Y)587a(4Î4=SÍ
Î4=M�(+<6<>7�3SÍ
(+,4C
?@,4Y�=�(µ2.36?@,4Y)587ÓÍ4?8ö+7�5\?@,�=S*47A?¤V¡2NY)7)/b10*47�,47�=Xå\(+<��b<X7�M�7�?8I)7�3A2ÓÍ
2N=6M�* æ¨<X(4Vð2.C�2N=S2?@V^2NY)7 ­ 2N30?@,
Í
Î4=P:�2),4CG?8=63�36?@,4Y)587H(+Î4=�Í
Î4=0å\(+Î458CÓU
7H=�<62N?@,47�CÓ=6(^Í
<X(4C�Î4M�7H=�*47�Í4?8ö+7�5¹I�2N5@Î47^2N=\=S*47M�7P,�=S<X7L(Næf=S*
2N=aÍ
2%=6MÞ*A(%æ�C�2N=S2�?@,Ó=�*47L=S<6Î47L?@V^2NY)7�Ö+/	,a3�=S*47L=S<62N?@,47�Cb,47�=�å\(+<=�^?83�36MP2),
,47�Cµ2%MP<X()3632GU45@Î
<6<X7�C�?@V^2%Y)7):�?8=63�(+Î4=SÍ
Î4=HÍ
<X(4C�Î4M�7�3�2AC
7�M�(+,�I)()58I)7�C�?¤V¡2NY)7):�Í4?8ö+7�5\U)9�Í4?8ö47�5 /A10*47^VW?@,4?@V�Î
V3��
Î
2)<X7^7P<�<X(+<LC
7P<>?�IN2N=6?8(+,�(Næ0=S*47¡(+Í4=6?@V^2N5n5�?@,47P2)<�D�5�=�7P<L?@,�=S*47�Í
<X7�I4?8(+Î43W367�M�=6?8(+,�M�(+<6<X7�3�Í
(+,4C
3W=6(=S<62%?¤,4?@,4Y.=S*4?83§,47PÎ
<>(+,b(+,�2�,Ó7P,43�7PV�U4587A(Næ07�öR2�V^Í4587�3^Ï ­ ò6Ö�Ò�åa*47P<>7^=S*47^(+<>?�Y�?¤,
2%5�?@V^2NY)7�3�Ö�*
2�I)7M�(+<6<>7�5¤2%=6?8(+,430C
7�D
,47�C�U)9A=S*47HV^2%=S<X?8ö)�£/1�*47ÓD
<>36=Ó2NC
I�2�,)=S2%Y)7b(Næ�=S<�2N?@,4?¤,4Y{3SÎ4M�*{2l,47PÎ
<X(4,{(+,{<X7P2N5LC�2N=�2�?�3.=S*
2N=G=S*47�,47PÎ
<X(4,{MP2),



Y

: V^2N585fU45¤Î
<�<62NC
?@Î43 T�2)<XY�7HU45¤Î
<�<62NC
?@Î43

BLÍ4=6?@V^2%5�58?¤,47P2�<�D�5�=�7P<

��7PÎ
<62N5�,47�=Xå\(+<��

Af?8Y+Î
<>7�ã)×�� ��¯P®¨´µ¬�³�³�®¨²
·4¬�«���³°¯�·R«NºW¬�²�­ ²
·�¼»«�¬�³�²�·+¯��W±
«
	�º
?@V^Í458?8M�?�=�5�9�5�7P2�<6,.=S*47WM�(+<6<X7�5@2N=6?8(+,43 �Üæ"<X(+V =S*47WC�2N=�2
/aBL,47^,47�7�C�,4()=�7�öRÍ458?8M�?8=6589 �+,4(Nå =S*47^Í
()?@,�=3SÍ
<X7P2%CÓæ"Î
,4M�=6?8(+,bç.:�=S*47^,4()?8367W36=S2N=6?836=�?�M�3 � !� (+<�=S*47WM�(+<6<X7�5@2N=�?�(4,Ó3�=S2N=6?836=6?8M�3 �Lê�=�*47H(+Í4=6?@VW?7.P2N=�?�(4,Í
<X(4M�7�363�?¤V¡Í45�?8M�?8=65@9�5�7P2�<6,43Ô2%5�5!=S*47�367�æ�(+<\?8=6367�5Kæ6/a10*4?83H,47�=Xå\(+<��¡M�(+Î458C�2N5836(�587P2)<�,Ó=�*47�2)Í
Í
<X(4Í
<X?@2N=67D�58=67P<¡?�æH=�*47µ,4()?8367b?@,Ê=S*47.C�2N=S2bå\7P<X7.3SÍ
2N=6?@2N58589ÊM�(+<6<>7�5¤2%=67�C�/�A
Î
<X=�*47P<�2NC
IN2),�=S2NY)7�3^(%æ£2�,47PÎ
<�2N5,47�=Xå\(+<��^2)Í
Í
<>(+2NM�*�2)<>?�3�7Låa*47P,Aå\7a?@V^2NY�?¤,47WÎ436?@,4Y�2^VW(4<X7a3�(+Í
*4?836=6?8MP2N=67�Cb,47�=�å\(+<=�H=�*
2),G2�5�?@,47P2)<(+,47)/ Zn9 M�*
2),4Y)?@,4Y =S*47.æ¨Î
,4M�=6?8(+, Í
7P<&æ�(+<6VW7�C U)9 =S*47b(+Î4=SÍ
Î4=ÓÎ
,4?8=P:Lå\7bMP2),{*
2)<XC4Õ"å0?@<X7�Í
<X?8(+<�4,4(�å�5�7�C
Y�70?@,)=6(L=�*47�,47�=�/>A�(+<!7�ö
2)V^Í4587):)?Kæ�å\7 �4,4(NåE=�*
2N=f=S*47\=S<6Î47\?@V^2NY)7�?�3f7�I�7P<X9+å�*47P<X7aÍ
(�36?8=6?8I)7):=S*47P,Wå\7\MP2),WÎ4367a2L,4(4,�Õ"5�?@,47P2)<n(+Î4=�Í
Î4=!æ¨Î
,4M�=6?8(+,§åa*4?8MÞ*W(4,45�9^2N3�3SÎ
VW7�3�Í
(�36?8=6?8I)7aIN2N5@Î47�3P/�Ì&,W=S*47\=6(N9Í
<X(+U4587PVè36=SÎ4C
?87�CE*47P<X7):¹å�7��4,4(Nå�=S*
2%=L=S*47W=S<6Î47W?@V^2NY)7�*
2%3L(+,4589Ó=Xå\(�Íé()3636?@U4587�?@,�=67P,436?8=X9b5�7�I�7�5�3â�U45@2NMA�Ó2),4C.åa*4?8=67):�(+<���Ø ]�2�,4C��\Ø ãPä�:
3�(�å\7HMP2�,µV¡2��N7H=�*47�,47�=Xå\(+<��¡?¤,�=6(Ó2¡M�5@2N3636?KD�7P<�åa*4?8M�*C
?836MP<X?@VW?@,
2N=67�3HUé7�=Xå�7�7P, =S*47�367�C
? 8�7P<X7P,�=LÍ
()363�?¤U4?858?8=6?87�3P/�ë�7HC
7�D
,47�=S*47H(4Î4=SÍ
Î4=a(%æ =S*47H,47�=Xå\(+<��¡=6(U
7)× �^â�� Ø ã � ­ ò � ä�Ø ã

ã ß � � � J
	 � �
��� � á âXã�0+ä
Zn9^?@,�=S<X(4C�Î4M�?@,4Y�2NC
C
?8=6?8(+,
2%5�,4(+,�Õ"58?@,47P2)<0Í
<X(4M�7�3636?@,4YGU
7�=Xå\7�7P,^=S*47L?@,
Í
Î4=a2�,4CG=S*47a(4Î4=SÍ
Î4=P:4(+,47VW?8Y+*�=a2N5858(Nå�=S*47W,47�=Xå�(4<��W=6(^3�7�5�7�M�=�æ"<X(+V 2^<>?�M�*47P<�3SÍ
2NM�7L(%æ#,4(+,�Õ"58?@,47P2)<ÔD�5�=�7P<X3P/ : Î4MÞ*.2^,47�=Xå�(4<��M�(+Î458CÓ?@V^Í458?8M�?8=6589Ó587P2)<6,.2WVW(+<X7�M�(+V^Í458?8MP2N=67�CbÍ
<X?8(+<0Í
<X(+U
2�U4?�58?8=X9GC
?836=S<X?@U
Î4=6?8(+,�æ (+<n?@V^2NY�7�3P:45�7P2�<6,Ó2VW(+<>7HM�(+V^Í458?8MP2N=67�C�,4()?8367^VW(+C
7�5�:�2),4Cb587P2)<6,b2)Ué(+Î4=L,4(+,�Õ"58?¤,47P2�<LC
7�=67�M�=6(4<a<X7�3�Í
(+,4367�3�/aë�7HC
(Ó,4()=Y)(.=S*
2N=�æ"2)<L?@,�=S*4?83§Í
2�Í
7P<�/Ó_�7P<X7^å\7�<>7PÍ
(+<X=W=S*47AÍ
7P<&æ�(+<6V^2�,4M�7�2NM�*4?�7�IN2)U4587µÎ436?@,4YRQ6Î436=�2 36?@,4Y)587,47PÎ
<X(+,�/

� È�Ã�Á�Å¹Á�Å/0���Á°À1.ÊÄ�Á�Â�Á@À�Ç���Ã�Â ����Å�À�Ë ��É���Ã
À+Ã
ÌÆæ^(+Î
< =S<62N?@,4?@,4Yl3�7�=�Ï ­ ò6Ö�Òµ?83Ó3�V^2N585H?@,{36?7.�7):W2Ê,47�=Xå�(4<��Ê=S<�2N?@,47�C�=6(lVW?@,4?@VW?7.�7Ê=S*47�7P<6<>(+<A(+,=S<62%?¤,4?@,4Y�C�2%=S2Gå0?8585V��(NI)7P<�D�=���=S*47AC�2N=S2
/.ë�7AM�(+Í
7Gå0?8=S*�=S*4?83^U)9�Í
Î4=6=6?@,4YE2.36=S2),4C�2�<XC �H2�Î43636?@2),Í
<X?8(+< (+, =S*47E,47�=Xå\(+<��ÊÍ
2)<62�VW7�=67P<X3P/ôë�7bD
,4C Í
2)<62)VW7�=�7P<X3 � =S*
2N=ÓV^2%ö+?@VW?7.�7�=S*47�Í
()36=�7P<X?8(+<Í
<X(+U
2�U4?�58?8=X9):Wú��°ÿ��°:�=�*47 Í
<>(+C�Î4M�=A(NæH=S*47.5�?��N7�58?@*4(4(+C â°æ"2NM�=6(+<X3W(NæH=�*47Gæ�(+<6V âXã�0+ä6äW2),4C =S*47µÍ
<>?�(4<�/ë�7b(+Í4=6?@VW?7.�7b=S*47bI�2�<X?@2),4M�7b(NæH=S*47�Í
<X?8(+<�âÆ=S*47 ��å\7�?8Y+*)=AC
7�MP2�9ÊM�(+,436=S2�,)=��Kä^Î436?@,4Y 2)Í
Í
<>(�ö4?@V^2N=67Z\2�9)7�36?@2),AVW7�=S*4(4C
3 ! 44:60 '�/0â�,ÔVWÎ436?@,4Y)589):4=S*47�367LZ\2�9)7�36?@2),A<X7�Y+Î45@2)<X?7.P2N=6?8(+,AVW7�=S*4(4C
3�2�<X7aC
7�3�M�7P,4C
7�Cæ"<X(+Vô=S*4()367LC
7�I�7�5�(4Í
7�Cb?@,G=S*47WZ�2�9)7�3�?¤2�,A; 2%ö+?@VWÎ
V 7P,�=S<X(+Í�9�VW7�=S*4(4C�/�ä



9): 9

Af?8Y+Î
<X7'�
× A
<X(+V 587�æ�=^=6(E<X?8Y+*�=P×A(+<X?8Y)?@,
2N5�?¤V¡2NY)7)ê0U45@Î
<6<X7�C�2),4Cl,4()?8369�C�2N=S2éê0<X7�M�(+,436=S<�Î4M�=6?8(+,ÊU)9;b7PV : 943Pê�<X7�M�(+,43�=S<6Î4M�=6?8(+,GU�9�=�<62N?@,47�Cµ,47�=Xå\(+<���/
��� Ã!Âa¿
Ä)Ç

ë�7WMP<X7P2N=�7�CÓC�2N=S2¡367�=63�æ"<X(+Ví2), ?¤V¡2NY)7W(Næ�=67�ö4=P:�Î436?@,4YGI�2)<X?8(+Î43�C
7�Y+<X7�7�3L(Næ�U45@Î
<6<>?¤,4Yb2),4Cµ2%C
C
?¤,4YI�2�<X?8(+Î43a2)VW(4Î
,)=63n(Næ ,4()?8367)/n10*47ÔU45@Î
<\å02N3\3SÍ
2%=6?@2N585�9��H2�Î43636?@2),�:
2),4CG,4()?8367Lå02N302NC
C
?8=6?8I)7�589'�H2)Î43XÕ36?@2),�/ A�(+<!7P2NM�*^C�2%=S2L367�=�:+2),W(4Í4=6?@V^2N5�58?@,47P2)<#D�58=67P<nå02N3�MP<X7P2%=67�C�:+2£;µ7PV : 9+3nC
7�M�(+,)I�()5@Î4=6?8(+,�Î43�?¤,4Y=S*47�A�7P<�VW?KÕ"FL?¤<�2NM^Í
<X?8(+<�å02N3ÔÍé7P<&æ�(+<6VW7�C�:�2),4C�2G,47PÎ
<62%5�,47�=�å\(+<=�^å02N3�=S<62N?@,47�C�(4,Ó2A3SV^2%5�5fÍ
2N=6M�*(Næ\=S*47^?@V^2NY)7)/^1�*47§,47�=Xå\(+<�� å02N3L=S<62N?@,47�C�(4,Ó=�*
<X7�7�*4Î
,4C�<X7�C�7�ö
2)V^Í4587�3ÓâXú��°ÿ��°: Q6Î436=H2A36?8öb5�7�=�=67P<å\(+<XCG?@,G=�*47L?¤V¡2NY)7Pä�/ë�7�D
<>36=fM�(+,�=S<62N36=!=S*47aÍ
<>(+Í
7P<X=�?�7�3n(Næ
=�*47a,47�=Xå�(4<���å0?8=S*W=S*47�(+Í4=6?@V^2N5
58?@,47P2)<!D�58=67P<�/�Ì",^2%5�5
MP2%367�3=S*470=�<62N?@,47�C�,47�=Xå\(+<��L(4Î4=SÍ
7P<&æ�(+<6V§3f=S*470(+Í4=6?@V^2%5
5�?@,47P2)<#D�58=67P<#?¤,§=67P<6VW3n(Næ
3SÎ
V�Õ"3��RÎ
2�<X7�C^7P<6<X(4<�:N=S*47C
?98�7P<X7P,4M�7�Ué7�?@,4YµY4<X7P2N=67�36=�æ�(+<�=S*47�VW(�36=LC
?���MPÎ458=§Í
<>(+U4587PVW3P/^Ì",µD�Y+Î
<X7ÓãWå\7^C
?83SÍ45@2�9b7�öR2)V¡Í45�7�3(Næ�=S*47WÍ
2)<62)V§7�=67P<X3�(Næ =�*47�(4Í4=6?@V^2N5�58?@,47P2)<�D�58=67P<L2�,4CÓ=S*47W,47�=�å\(+<=��/0Ì&,Ó=�*47HMP2N367W(Næ�2¡3SV^2N585fU45¤Î
<<62NC
?@Î43�â�2§36=S2),4C�2)<>CGC
7�I+?@2N=6?8(+,.(Næ�(4,47�Í4?8ö+7�5@ä�:�=�*47�,47�=Xå\(+<��¡5�(4( ��3a3�?¤V§?�5@2)<�=�(�=S*47�(+Í4=6?@V^2N5¹5�?@,47P2)<D�58=67P<�7�ö+M�7PÍ4=\æ�(+<02�3658?8Y+*�=a3 �RÎ
2)<>7P,47�363aÍ
<X(4C�Î4M�7�CµU�9�=�*47�æ (+,�=036=�2N=6?836=6?8M�3P/ ,�=�2§5¤2�<XY)7P<0U45@Î
<�<62NC
?@Î43âÆ=Xå\(�Í4?8ö47�5�3�36=S2�,4C�2)<XC^C
7�I4?@2N=6?8(+,
ä�:
=�*47H,47PÎ
<62N5�,47�=�� 3\å\7�?8Y+*)=�3�2�<X7aM�(4V^Í4587�=67�589�Î
,458?��N7H=�*47L(+Í4=6?@V^2N558?@,47P2)<�D�58=67P<�:�2),4Cµ2)<>7�2N5836(^3�2N=6?83Xæ�9+?@,4Y)589µ*
2�<XCGæ�(+<02A*+Î
V¡2),G=6(¡7�öRÍ45@2N?@, � 2¡Y)(4(+C.36?8Y+,G=S*
2%=0=S*47,47�=Xå\(+<��W?83�C
()?@,4Y�36(4VW7�=S*4?@,4Y�Î4367�æ"Î45��Ì&,W=S2)U4587Lã0å\7\3SÎ
V^V¡2)<X?7.�7\=S*47a<X7�5@2N=6?8I)7�Í
7P<&æ�(+<6V^2�,4M�7�(%æ
;b7PV : 943�2),4C^2L,47PÎ
<62N5�,47�=Xå�(4<���å0?8=S*2WãP[ 20ã�[0?@,
Í
Î4=P/�Ì&,W=S*470MP2%367�3få0?8=S*WU45@Î
<6<X?@,4Y^2),4C^,4()?8367):4=S*470,47PÎ
<62N5�,47�=�� 3�Íé7P<&æ�(+<6V^2),4M�7\?83�3�5�?8Y+*�=6589?@,�æ 7P<>?�(4<�=�(H;b7PV : 943�� 3P/¹ëÜ*47P<>70=S*47P<X7�?83�,4()?8367�(+,4589):4=S*47a,47�=\36?8Y+,4?KD�MP2),�=6589^(+Î4=SÍé7P<&æ (4<6VW3�;b7PV : 943P/Ì�=¡?�3¡M�(+,bQ�7�M�=�Î
<X7�CÊ=S*
2N=W=S*47G,47�=Xå�(4<��bå\(+Î458Cl*
2�I)7�C
(4,47ÓU
7�=6=67P<¡*
2NCÊ?8=§Ué7�7P,Ê=S<�2N?@,47�CÊ(+,ÊVW(+<X77�ö
2)V^Í4587�3�âÆ=S*47�=S<62N?@,4?@,4YG367�=�M�(+,436?836=67�Cb(Næ�(+,45895P^M�*
2)<62NM�=�7P<X3a(%æ�=67�ö+=�ä�/�Af?8Y+Î
<X7��^3�*4(�å�3aÍ
2N=6M�*47�3(Næ�<X7�M�(+,436=�<6Î4M�=6?8(+,430Y)?8I)7P,.U)9A=S*47L=Xå\(^VW7�=S*4(4C
3\æ (4<\=S*47LMP2N367�(Næ�=S*47�3SV^2N585�U45@Î
<6<>?¤,4YG<62NC
?@Î43P/1�*47GM�(+V^Í
2)<X?836(4,EUé7�=�å\7�7P,�=S*47�3�7ÓVW7�=S*4(4C
3Wæ¨2�I)(4Î
<X3W=S*47�,47�=Xå\(+<���VW()36=W36=S<>(+,4Y)589�åa*47P, å�7=SÎ
<6, =6(A=S*47WM�(+V^Í
Î4=S2N=�?�(4,
2N5�<X7��
Î4?@<X7PVW7P,�=P/HBL,4M�7W=S<62N?@,47�C�:�2A,47�=Xå�(4<��^MP2�,µÍ
<>(+M�7�363L2),.?@V^2NY)7�?@,367�M�(+,4C
3Wâ�2)U
(4Î4= c�367�M�(4,4C
3\æ (4<�2�å\7�585KÕ�Í
<X()Y+<62�V^VW7�CÓ,47�=Xå\(+<���å0?8=S*G2GãP[ 2�ãP[�?@,
Í
Î4=a(+,A2 �646P*2�646P�?@V^2NY�7Pä�/fë�*47P<X7P2N30;b7PV : 9430=S20�N7�3LãP]��
ã�4WVW?@,4Î4=67�3�=6(�Í
<X(4M�7�3630=S*47L3�2)VW7L?@V^2NY)7)/
	 
G®ÆºP¸4¼�ºPº�®@±¹²
10*47\,47PÎ
<62N5+,47�=Xå\(+<��02�Í
Í
<X(+2NM�*L*
2N3�Í
<X(NI)7�CH2�I+?@2)U4587�?@V^2%Y)7�<X7�M�(4,436=S<6Î4M�=6?8(+,�3�=S<62N=67�Y�90?@,�2�Í
<X(+U4587PVåa*47P<X7�=S*47P<X7^2)<X7�36=S<X(4,4Y^?@V^Í458?�M�?8=WÍ
<X?8(+<X3L?@,.=S*47HC�2N=�2
/0Z\2P9�7�36?@2),G;�2Nö47P,)=�?@V^2NY)7W<X7�M�(+,436=�<6Î4M�=6?8(+,å0?8=S* ;µ7PV : 9+3�C
7PÍ
7P,4C
3L(+,��4,4(Nå0587�C
Y)7W(Næf=S*47�Íé()?@,)=�3SÍ
<X7P2NCAæ"Î
,4M�=6?8(+,�:�2),4Cb2N363SÎ
V¡Í4=6?8(+,43a2)Ué(+Î4==S*47b,4()?8367�Í
<X(+M�7�3�3�2),4C =S*47µÍ
<>?�(4<^(+, ?@V^2NY)7�3P/ Ì", M�(+,)=�<62N36=P:n=S*47b,47�=�å\(+<=�E2)Í
Í
<>(+2NM�*Ê<X7��RÎ4?@<X7�37�ö
2)V^Í4587�3�(Næ�C�2%=S2�æ (4<�åa*4?8M�*W=S*47\=S<6Î47n?@V^2NY)70?83 �4,4(Nåa,�:)U
Î4=fC
(+7�3�,4(�=�<X7��RÎ4?@<X7�7�öRÍ458?8M�?8= �4,4(Nå0587�C
Y)7



Y

Zn5@Î
<a<62%C
?¤Î43 �0()?8367�587�I)7�5 ��FL?���MPÎ458=X9_� ;µ7PV : 9+307P<�<X(+< �07�=�7P<6<X(+<ã VW7�C
?@Î
V ã�4
/9W W
/�0 c
/ c� VW7�C
?@Î
V �6P
/K[ ã�P
/�[ ã�c
/ �] *4?�Y4* P6P
/�	 ���
/�] ãP[
/ 	
1�2�U45�7Aã)×�� ·
« Ö ±
«�´b¬�²»¸%·G± Ö ²
·4¯��W±�« 	�«P·
³°¬
¯P® ��·b¯�±�� ·�´ ����ºgfu)m�� })r	�H~6�)z8t���
�x�|apGtXp��"��r���t"u)m¡�"�)q£¦ �
���4p�w"m�}�m6w"w&xPwWy4m6t���m�m6sÊt"u)m¡}+p�tXpÓp�s�}�t"u)mAt"w&�)mAr�qWp���mPj�gfu)mv4m6w�|�x�w"qWp�s)~6mLq�mSp��&�)w"m�|�x�w0w"m6~�xPs)�&t"w"��~6t"r8xPs.r8�0t"u)mL�&�)qL¦����N�+p�w"m6}Gm�w"w"x�w0y4m6t���m�m6sbt"u)mLw&m6~6xPs��"t"w&�)~6t&r�x�sµp�s)}t"u�m�t&w"�)m�r�qWp���mPj
d!xPt"uAp�w"m\r8sHt&u)m0�Xp�qHm\p�w&y)r8t"w�p�w"���)s)r8t"��j

(Næ�=S*47\Í
()?@,�=f3SÍ
<X7P2NC�æ"Î
,4M�=6?8(+,�:),4()?8367\587�I)7�5�:)(+<¹?@V^2NY)7n36=S2N=�?�3�=6?8M�3Pê)=S*47�3�7�2)<X7 ��587P2)<6,�=���?¤V¡Í45�?8M�?8=6589Wæ"<X(+V=S*47�C�2N=S2
:N3�(�=�*
2N=f(+Î
<\<X7�M�(+,436=�<6Î4M�=6?8(+,A2)U4?85�?8=X9^?830,4()=\58?¤V§?�=�7�CÓU)9W(+Î
<n?@,
2)U4?858?�=X9A=6(H7�ö
Í
<X7�36302£Y)(+(4CÍ
<X?8(+<£(�I�7P<�?¤V¡2NY)7�3P/ABL,4M�7^=S<62N?@,47�C�:f2G,47PÎ
<62N5\,47�=Xå�(4<��G?83�2GVWÎ4M�*.æ"2N36=67P<�?@V^2NY�7�<X7�M�(+,436=�<6Î4M�=6?8(+,C
7�I4?�M�7)/Ì¨=�å0?8585
Ué7a?@,�=67P<X7�36=�?¤,4YW=6(H2%=6=67PV^Í4=�VW(4<X70<X7P2N58?836=6?8MHÍ
<X(+U4587PVW3P:42),4CA?¤,�I)7�36=�?�Y42N=67a,47�=Xå\(+<���3 Î43�?¤,4YVW(+<>70M�(+V^Í4587�ö�,4(+,�Õ"58?@,47P2)<nM�(+V^Í
Î4=�2N=6?8(+,43P/ ,�VW(+<X7�36(+Í
*4?836=6?8MP2N=67�C¡æ�(+<6V (Næ�Í
<X?8(+<��+,4(Nå0587�C
Y)7�=S*
2N=M�(+Î458CEUé7�?@,4M�(+<�Í
(+<62%=67�Cb?�3�=S*47H3�Í
2N=6?@2N5f3SVW(4()=S*
,47�3�3a(Næ�=�*47§Íé()?@,)=�3SÍ
<X7P2NC æ¨Î
,4M�=�?�(4,�:�åa*4?8M�*b587P2NC
3Î430=6(¡7�öRÍé7�M�=a3SÍ
2%=6?@2N5�3SVW(4()=S*
,47�3�30?@,G=S*47LC
7�M�(+,�I)()58I4?@,4YAD�5�=�7P<a2N5836(�/�10*4?83ÔÍ
<>?�(4<\7�öRÍé7�M�=S2N=6?8(+, MP2),U
7A?@,4M�(+<6Íé(+<62N=67�CÊU�9µM�*
2),4Y)?@,4Y.=S*47�<>7�Y+Î45@2)<X?7.�7P<£æ¨<X(4V 2 + � Ñ � Ñ ?�� =6( 2 + � ÑnÑ �;� Ñ � Ñ � ?��
:å0?8=S* 2)Í
Í
<X(+Í
<X?@2N=�7GMP<X()363^=�7P<6VW3�Ué7�=�å\7�7P,�=S*47bÍ
2)<62)V§7�=67P<X3P/Ê- �
Î4?8I�2N587P,�=6589):�(+,47GMP2),l<>7�=S2N?@,�=S*47æ�(+<6VW7P<W<X7�Y+Î45@2)<>?;.�7P<�:02),4ClU45@Î
<W=S*47G?@,
Í
Î4=�C�2%=S2bU
7�æ�(+<X7Gæ�7�7�C
?@,4YE?8=^=�(µ=�*47Ó,47�=�å\(+<=��/�10*4?83�V^2�936(+Î
,4C.3SÎ
<6Í
<X?836?@,4Y�:�U
Î4=LU45@Î
<6<X?@,4YG=S*47LC�2N=�2^7�I)7P,.VW(+<X7LMP2�,G?@,4C
7�7�Cb7P,
*
2),4M�7W=S*47�Íé7P<&æ (4<6V^2),4M�7�(Næ3SÎ4M�*Ó,47�=Xå\(+<���3V!�[A'�/
ç · Ö ·R«�·�²»¸N·
º!@ã ' : / A0/ �HÎ4585�/{FL7�I)7�58(+Í
VW7P,�=63A?¤, V^2Nö4?@V�Î
V 7P,�=S<X(+Í�9EC�2%=S2�2),
2N589436?83P/�Ì", '�/ : �)?85858?¤,4Y�:a7�C
?8=6(4<�:

�bü���úÆû��+û��\þ�ù��X÷�ø��bü)þ����0ü��NÿA<ÞúÆü)þ��bÿPù��+÷��=<! #"�ü�ûa> �Sú���@4ÿ�$�%�&�&):\Í
2NY)7�3 4)[�� Wéã):!FL(+<XC�<X7�M�*)=�:ã�	6c 	
/4O�5¤Î�å\7P<�/! �b' : / A0/���Î45�5H2�,4C �¡/ '�/nFH2),4?87�585 / Ì&V^2NY)7�<X7�M�(4,436=S<6Î4M�=6?8(+, æ¨<X(4V ?@,4M�(+V^Í4587�=67Ê2),4C�,4()?8369 C�2N=S2
/
'Lü)ù(�Y�XÿP:��6W0�
× P6c6P � P 	)]
:4ã�	6W(c
/!�[b'�Ì�/Z��Î49)(+,�:�)�/ �H/�)�2)Í
,4?���:!Z�/�-0/�Zn()3�7P<�:�Tf/+*W/
Zn()=�=6(+Î�:�2),4C : /�,W/ : ()585¤2é/ : =S<6Î4M�=SÎ
<�2N5 <>?�3/�GVW?@,�Õ?@VW?7.P2N=�?�(4,.æ (4<0M�*
2)<62NM�=�7P<a<X7�M�(�Y+,4?8=6?8(+,�/HÌ",.'�/K-0/�;b(+(4C
9): : / '�/�_�2),436(+,�:�2),4C-,L/ 1 /�T�?@Í
Í
V^2),
,�:7�C
?8=6(4<X3P:/.0��1�ü)þ32�ÿ�<0úÆþ4'Ôÿ�� �Xü)ý65Sþ87�÷���ûWü)ù�ú�÷�þ:9��X÷�2SÿA< <�ú�þ(@<;��b<�ù�ÿPû <�=
:
Í
2NY)7�3	0?W
ã �?0 W 	
: : 2),^;�2�Õ=�7�(�:
J02N58?Kæ (+<�,4?¤2é:�ã�	 	��
/);b(+<>Y+2),AOL2)Î�æ¨V¡2),
,�/!�0='HF^/ '�/�JL/!;�2NMPOL2�9)/Ê10*47Ó7�I4?8C
7P,4M�7Óæ"<62)V§7�å�(4<���2)Í
Í458?87�C{=6(�M�5@2N3636?KD�MP2N=�?�(4, ,47�=Xå\(+<���3P/>'Ôÿ�� �Xü)ý
"n÷)û�ø��+ù�ü�ù�ú�÷)þ�: 0
â�4�ä�× P 	6c � W
ã�0�:
ã�	 	��
/! 4b'HF^/ '�/�JL/N;�2NMPOL2�9)/ ,�Í
<62NM�=6?8MP2N5�Z\2�9)7�36?@2),�æ"<62)V§7�å�(4<��£æ (+<nU
2NMA�+Í
<X(4Í
2NY+2N=6?8(+,W,47�=Xå\(+<���3P/?'Ôÿ�� �Xü)ý
"n÷)û�ø��+ù�ü�ù�ú�÷)þ�: 0
â�[�ä�×�060?c �?0?W��
:
ã�	 	��
/! Pb'H'�/ : ��?8585�?@,4Y�/ J\5@2N3636?8MÓV^2Nö4?@VWÎ
Vð7P,�=S<X(4Í)9)/�Ì&,�'�/ : �)?85858?¤,4Y�:\7�C
?�=�(+<�:@�µü��Nú�û��4ûA�\þ�ù��X÷�ø��bü)þ��
�0ü��NÿA<ÞúÆü)þ:�bÿPù��+÷��=<! B"�ü)û >A��úC�A@+ÿD$�%E&�&):
FL(+<>C�<X7�MÞ*�=P:�ã�	6c 	
/
O�5¤Î�å\7P<�/


